N

The sales turnover and profit during the two years
were as follows;
Year Sales Profit

(Rs.) (Rs.)
2012 1,40,000 15,000
2013 1,60,000 20,000 -

Calculate:

(a) P/V ratio;

(b) Break-even-point

(c) Sales required to earn a profit of Rs. 40,000
(d) Fixed ._mu%m:mmm.

Bm stel usHserse o Mu eflpuener  HmD
@emuib GarHasuul Herars :
ar® efpuemer @eomuip

G- -
2012 1,40,000 15,000
2013 1,60,000 20,000

st (Wlg S8

(=) @eru-eflhuamen el fsib

(<) @eomu-plL Hm eflpuenar jeray/Laraf
(@) em. 40,000 eomuib L Caeneuwirar e Huenan

(%)  wrpé Qeaeyser (i) Heas Qeaeysar.
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Q.P. Code : [07 DBM 02/
07 DBBA 02/11 DAM 02/
11 DSM 02/14 DIGM 02/
13 DLSM 02/15 DHM 02]

D 1022

(For the candidates admitted from 2007 onwards)

B.B.A./B.B.M. DEGREE EXAMINATION,
DECEMBER 2019. :

First Year

Part III — Business Mgt./Business Admin Airline and
Airport Mgt./Shipping and Port Mgt./International and
Air Cargo Mgt./Logistics and Supply Chain Mgt./
Hospital Mgt.

ACCOUNTING FOR MANAGERS

Time : Three hours Maximum : 100 marks

Answer any FIVE questions.

Each question carries 20 marks.
(5 x 20 = 100)

1. Define m.noo:sﬂzm. Explain the principles of
accounting.

samsSlue)  uapug. sensdweden 5G| URIGEDET
alilemé .
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From the following information, calculate,

(a) _ Maximum stock level

(b) Minimum stock level

(¢) . Re-order level

(d) Average stock level.

Minimum consumption - 400 units

Maximum consumption - 600 units

Normal consumption - 450 units

Re-order quantity - 1500 units

Re-order period - 2 to 6 months

Normal re-order period - 4 months.

Germeu(mid eSleunmiisenaTs Qamemr(p),
Ylemeumeuaneunanné santdd (s,

(=) @iflsluls srsdmuy Hleavam

(=) GoDPBsULE s768 UL Haw

(&) o o sierey LHMID

(/) egmaf ensdlmiy

GODHS SiaTe) BSTeY- G WIEsHDE 400 S Esdr
<1ds sjeray Bisey - @ LrssHNE 600 S Es6T
eynafl misie - b wIESSHDHE 450 DIV @HEET

Lo penent jarey - 1500 e @ser

LD QenemT &HTeVLD - 2 (1pGed 6 LonghiseT

gynef] 1y e sraib - 4 wrskser.

6 D 1022

3. Prepare a trading and profit and loss account for

the year ending 31 March 2001 and a balance
sheet as on that date from the following balances:

Particulars Rs. Rs.
Capital 52,000 Carriage inwards 390
Sales : 1,01,000 Bad debts 160
Purchase return 1,900 Postage and
Opening stock 22,000 telegrams 210

Furniture and fittings 5,500 Travelling exps 550

Sundry creditors 6,000 Cash at bank 3,270

Investments 16,700 Wages 1,300
Salaries 1,800 Insurance 220
Sales return 5,200

Printing and stationery 240

Sundry debtors 31,000

Purchases 72,000

Rent 560

Adjustments:

(a) Salaries outstanding Rs. 150
(b) The closing stock was Rs. 18,500
(¢) Insurance was ?.mﬁm& Rs. 30

(d) Charge 10% depreciation on furniture.

3 D 1022
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Reg. No. : Yo 1]

D 1021 Q.P. Code : [07 DBM 01/
07 DBBA 01/11 DAM 01/

11 DSM 01/14 DIGM 01/

13 DLSM 01/15 DHM 01]

(For the candidates admitted from 2007 onwards)
B.B.A. DEGREE EXAMINATION, DECEMBER 2019.
First Year

Part IIT — Business Management, B.B.A./B.B.A. Airline
Shipping and Port Management/International Airport
and Air Cargo Management/Logistics and Supply Chain
Management/Hospital Management

MANAGEMENT PROCESS

Time : Three hours Maximum : 100 marks
Answer any FIVE questions.
All questions carry equal marks.
(5 x 20 = 100)
1. Explain the term business and profession. Assess
the requirements of a successful busines.
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Reg. No.: .

D 1023 Q.P. Code : [07 DBM 03/
07 DBBA 03/11 DAM 03/

11 DSM 03/14 DIGM 03/

13 DLSM 03/15 DHM 03]

(For the candidates .mmB?nmm from 2007 onwards)

B.B.M./B.B.A. DEGREE EXAMINATION,
DECEMBER 2019.

First Year

Part III — Business Mgt/Business Admn/Airline and

Airport Mgt/Shipping and Port Mgt/Information Air

Cargo Logistics Mgt/Logistics and Supply Chain Mgt/
: Hospital Mgt

Allied — MATHEMATICS FOR
MANAGEMENT/MATHEMATICS FOR MANAGERS

Time : Three hours Maximum : 100 marks

Answer any FIVE questions.
All questions carry equal marks.
; (5 x 20 = 100)

1. Verify An(BuC)=(AnB)u(ANC) by means
of a Venn diagram. ‘
An(BuC)=(AnB)U(AnC(C) GTETLIGNS Qeuer

euenlILIL LD ppeutd afluniés.
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Bpsrand  eSeurmismens Qenemr®  UmeusTD
Lrmgoser srew eri Ggrreufamasude &ew (191956
Cogib senddHb wepasamar Ggefleurs GHUGLayb.

QLD Wps0 : @ramLmb  apenmmib BIETGTLD
BHSTAD  pHsTEE @HstEn®  phsran®
1991 30 81 62 119
1992 33 104 86 171
1993 42 133 99 221
1994 56 172 129 335
1995 67 201 136 302

6 D 1023

() 3 yaBsesE 5% un sdbe mi@ e L
wHnL s&fl euLigufer Fmps@sarar Caumun(
. 610 erafler wibs s Bger/2ia ereran?

(a) Find three numbers in A.P. whose sum is 12
and the sum of whose cubes if 408,

. (b) The sum of 3 numbers in G.P. is 35 and their

product is 1000. Find the numbers.

(=1) A.P.év epeny ereimsale @B 12 wHmbd oigen
sawid 408 erafled 2ibs craimsener samsd)[Hs.

(@) G.P.éb qpeny eramraeien s s 35 Gogitb oigen
Qu@msse wHuy 1000. aaflé 9IHG eTETHET
saurig 1.

Explain frequency distribution. What are the basic
principles to be observed in the construction of it?

nﬁ%@@@@.ﬁ ureuame efleTé@s. Beme@Qeusin Laueme
2 Bauns@Ltung  seuallssGauarg SllgLiLenL
SH(HSGIHET/ LPEDSET WiTeneu?

Calculate the mean, median and mode :

Marks : 11-20 21-30 31-40 41.50
No. of mnsmm:ﬁ R 38 120 84"
Marks : 51-60 61-70 71-80

No. of students : 48 36 31

3 D 1023
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D 1034 Q.P. Code : [07 DBBA 04]
(For the candidates admitted from 2007 onwards)
B.B.A. DEGREE EXAMINATION, DECEMBER 2019.
Second Year
Part III — Business ?.wﬁu..amﬂwmﬂoa
OFFICE MANAGEMENT

Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

All questions carry equal marks.
(5 x 20 =100)

1 Describe the principles, advantages and
techniques of scientific office management.

egsesnan o@iaias Cuararamoulear Cam_ur@aseie
BEIENLOGET HMILD WsSlasemar afleur.

2. Define office environment. Explain the principles
and factors responsible for the selection of office
location.

DIPIGUDS G  eUENTLI). nﬁ@.@%mm [C\[
siemwdharer gsgauniser LHmD srramiisman eflaufl.
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Reg. No. : ...

D 1038 Q.P. Code : [07 DBBA 08]
(For the candidates admitted w.oB. 2007 onwards)
B.B.A. DEGREE HNESHZ>§OZ.. DECEMBER 2019.
Second Year
Part IIT — Wcmmum,mm Administration
TAXATION
Time : Three vo:.um Maximum : 100 marks
Answer any FIVE questions.

Each questions carries 20 marks.
(5 x 20 = 100)

1. Define the term “Income”. Explain any ten
~ exempted incomes from Income tax.
“aupoeny” eTeD Lssms euanyiig. Gogib aumomer
aufluilefmpa  whdlan eflasseflssiinl L gCsayb
USSI eu(hLOTaTEIsemeT 6l amé: 5.
2. Explain the various authorities of CBOT.

CBOT-én uaGeuny oidamyissemar eflené @
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D 1035 Q.P. Code : [07 DBBA 05]
(For the candidates admitted from 2007 onwards)
B.B.A. DEGREE EXAMINATION, DECEMBER 2019.
Second Year
Part ITI — Business Administration
BUSINESS COMMUNICATION

Time : Three hours Maximum : 100 Emnwm
Answer any FIVE questions.

All questions carry equal marks."
(5 x 20 = 100)

i Describe in detail the essentials of business
communication with suitable examples.

auanlls gsad Qsmmfear gHurcufuiisamar H&E

2 SITeRIs(@hL 6 efleuf,

2. Discuss the barriers to communication and
suggest suitable measures to overcome such
barriers.

goae AgrmGer ge_smer eloimdss <2ig el 60l (b
BdreugpaTear pLalg smasmar s(ms.
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Reg. No. : ..
D 1036 _ Q.P. Code : [07 DBBA 06]
(For the candidates admitted from 2007 onwards)

B.B.A. DEGREE EXAMINATION, DECEMBER 2019.
Second Year

Part III — Business Administration

BUSINESS ENVIRONMENT

Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

Each questions carries equal marks.
(6 x 20 = 100)

1.  What do mean by business environment? Explain
the micro and macro environmental factors
affecting business.

aurenflL @ped arempmed eremen? GALIMLIMTGE0s LTHéELD
Sdlw wpmid Quilu srresflsemer afaur.

2.  Assess the changing concept and objectives of
business professionalization.

eflwruny  Gsmfeller  wmyden S(HSMSIL|LD
GD&ECameraamen LHLIGE.
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Time : Three hours

D 1037 Q.P. Code : [07 DBBA 07]
(For the candidates admitted from 2007 onwards)

B.B.A. DEGREE EXAMINATION, DECEMBER 2019.

Second Year
Part III — Business Administration
FINANCIAL ACCOUNTING

Maximum : 100 marks
Answer any FIVE questions.

Each questions carries 20 marks.
(6 x 20 = 100)

Define Accounting. Explain various accounting
concepts briefly.

sansdlue eerun. udGam sarssud Cunglé
H(HHSSFHEMET &(H&STE efleu.

What is Trial Balance? Describe the errors which
are disclosed by Tvrial Balance.

By Gergenens L1 igwe erenpre eremen? Smiy
Gorgenans L iquielled grhLI@id “enpaeer efeu.
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D 1039 Q.P. Code : [07 DBBA 09]
(For the candidates admitted from 2007 onwards)
B.B.A. DEGREE EXAMINATION, DECEMBER 2019.
Third Year
Part IIT — Business Administration

ENTREPRENEURSHIP
Time : Three hours Maximum : 100 marks
Answer any FIVE questions.
All azwmﬂozm. carry equal marks.
(5 x 20 = 100 marks)
1.  Trace the history of msnnmﬁwmumzamrmv. :

Qamfe apenanzseadler aigorpenn efleuf.

2 Describe the Schumpeter’s views on innovation
and entrepreneurship.
ygew wpg Gsmied pempulldr @@L L Mer
Crré Hleanasamer afleurl.

Discuss the behavioural patterns of
entrepreneurs.

Qsmfler apenarGeuniar pL_gang wrdfsemar efleumd).
What is achievement motivation? How -can
achievement motivation be developed?

gngenan WeuUQIESD eTame) erenen? Gaamen ereualigin
Gubu@dgeumii?

Describe the functions of SIDO and SSIC.

SIDO wimib SSIC uler Lienflsemer aflaufl.
Differentiate between entrepreneur / manager /
intrapreneur.

GAgmfled wpenanGaurt / Cuoemarir / L&l UGSgILieurr
Camu@Bsss.

Explain the sources of business idea as also
explain idea processing.

eflwmuny  eramengdlen  @ysTIRSST ©OHHID  eTaimeRT
wpenpullenamyib efleul,

Describe the functions of investment institutions.

WS ( Hpeuarisaiar uafsamar efeu.

2 D 1039
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Reg. No. : ..
D 1041 Q.P. Code : [07 DBBA 11]

(For the candidates admitted from 2007 onwards)

B.B.A. DEGREE EXAMINATION, DECEMBER 2019.
Third Year
Part III — Business Administration
COST AND MANAGEMENT ACCOUNTING
Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

Each question carries 20 marks.
: \ (5 x 20 = 100)
1 What do you mean by elements of cost? Explain
different elements of total cost.
SiLsselamaulian SiglumL. amnser upd B sifleg
wrg? Gugin Gwris i sselaauiear UG
Siig LILIGOL dni&HeneT allars@es.
2.  From the following information calculate
~ inventory levels.
Annual consumption 12000 units (360 days)
Cost per unit T 1
Cost per unit T 12
Inventory carrying cost 20% p.a.
Load time (maximum 30 days normal 15 days and
minimum 5 days)
Daily consumption maximum 45 units, normal 33
unit and minimum 15 unit.
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You are required to calculate:

(a) Margin of safety

(b) Sales

(¢) Variable cost _

(d) Sales to earn-profit of Rs. 15,000

(e) Additional sales to meet on additional
expenditure of Rs. 5,000 from the following

figures: ‘
. Rs.
Fixed cost 12,000
Profit 1,000

Breakeven sales 60,000
emeumeuaneupenn Heanrddl(ha
(=) Qud Peowurgsriy
(<) fipLicven
(@) wrPu@L Siselamea
(r) . 15,000 @emrubd QumeushaTer eNpLemes

(2) smbserer Gswey e 5000 ew erdiGamrdrer
Gaeweuwrar B efpuemer Spargmib
efleuyriisener amsHa Qarars

Rs.
Flenew ys6llenen 12,000
@eruid 1,000

eru Bt wHm Letafl elpueear 60,000

6 D 1041

From the following information, you are required
to prepare balance sheet:

(@) Current ratio - 1.75

(b) Liquid ratio - 1.25

(c) Stop turnover ratio - 9

(d) Gross profit Ratio - 25%

(e) Debt collection period - 1% months
(f) Reserves and surplus to capital - 0.2
(g) Turnover to fixed assets - 1.2

(h) Capital gearing ratio - 0.6

(1)  Fixed assets to net worth - 1.25

() Sales for the year T 12,00,000.

Gemeugpd  efleupiisemer  Qaran® @mUybenes
@dlenu swmi Qeis.

(=1) By eildlsn 1.75
(<2p) Birenwo fsb 1.25

(@) sradlmuy efpumer aldsb 9 ki

3 D 1041
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D 1040 Q.P. Code : [07 DBBA 10]
(For the candidates admitted from 2007 onwards)
B.B.A. DEGREE EXAMINATION, DECEMBER 2019.
Third Year |
Part IIT — Business Administration
ORGANIZATIONAL BEHAVIOURS
Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

Each questions carries equal marks.

(5 x 20 = 100 marks)

1. What is organizational Behaviour? What is its
scope? What is the necessity of studying this
subject?

nm*%.s_..fmqw BLSEOG TN eTenan? igen eflameid
wirgl? Glseer sppellen Ggane wirg)?

g Briefly explain McGregor's Theory X and Theory
X,

Qusdfsfier Car_ur® X wpmb Y g efeu.

Explain the concept of job simplification, job
enlargement and job enrichment.

vefl eraflgnéad, Lesll QuBEaL, wHpIb Ll Qamésid
ubi eSleud.

Explain the different types of Group. Differentiate
formal from informal group.

Geilen auamssmer eflaufl. apenpuITar Gpemau (e
#rym G(pefladlmibg CoumiuBés!.

What do you mean by OD Interventions? discuss
major OD Interventions

OD gués@ser wreme? wadu 0D @péEGsmer
afleurd).

What is communication network? Discuss the
various types of communication networks.

saaue Ggmity cuee Gerend eranpred cremen? @ e
cuanasenen eleurdl.

Describe the techniques of measurement of
intelligence. !

piawreleanes jerefl(Hid wsdasemer afiaur.

Discuss the role of attitude and behavior in
employee productivity.

QAgrfleorart o pusd Hpeer weILTEEG WHHD
BLgangullen Limtiens eSleu,

2 D 1040



Time : Three hours

Re@ NOL s o

D 1042 Q.P. Code : [07 DBBA 12]

B.B.A. DEGREE EXAMINATION, DECEMBER 2019.

Third Year
Part ITI — Business Administration
BUSINESS LAW
Maximum : 100 marks
Answer any FIVE a:mmﬁo_nm.

All questions carry equal marks.
(5 x 20 = 100)

What are the rights of surety State the
circumstances in which a surety is discharged
from liability. ;

Qewemmwrenflen o fenwaear  wremeu?  ereualls
Gphlenesafic Senemrwimeni QurmnSeSmbgy
A Hell&s LB DTT eremm sn.

What are the types of delivery of goods? State the
rules as to delivery of goods.

QurmeataaT aPhGsdlar umssET WTMea? IFT&EEG
auprIGS6len efldlameneT gnmi.

What is material alteration? Who are the parties
to negotiable Instruments?

smafene SmSHe) GTTHTL eTEMET? LWTHY (PEOD
2} CUETHS DS HUTSET WTT?

Describe the essential features of a fire insurance
contract.

& amuSE eliupssden (psflw LaTsemer afleufl.
What are the kinds of resolutions? State the
provisions of Companies Act for resolutions.
Srorengdlen ecuamsser wremeu? @ansrer snGEUe
Fli_gdle 2 arer efflsener sngy.

Describe the rights and duties of bailor and bailee.
Gur@er uueLe Galuem, wWLHOL @UUMLEGY
GQugueifier 2 flenw WHDID HLemwsemear adleur].
Enumerate the rights and duties of partners.

gl Lreflufen 2 feno pmib sL_eminsener efleufl.

Describe the characteristics of a company.

sGueaiulen LeT samear efleul.

2 D 1042
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D 1043 Q.P. Code : [07 DBBA 13]

(For the candidates admitted from 2007 cnwards)
B.B.A. DEGREE EXAMINATION, DECEMBER 2019.
Third Year
Part I1I — Business Administration
HUMAN RESOURCE EZ>QMEMZ%

Time : Three hours
Answer any FIVE Questions.
All questions carry equal marks.
(5 x 20 = 100 marks)

1. What are the different organisational structures
for personnel functions in an organization?
Explain the role and functions of HRM.

Poeeasder  veflwurert ueflsepésrar  uoCamy
Bipeuen ey wpepser wrg? HRM -ér unig
wHmb venllsamer efleul.

2.  Describe briefly the various steps that are
-involved in hiring human resource in an
organization.
wefls euer Himeuandsdh Liewtliwmereniy
 uenfliflwnidgieugharear LoGaun Ligsamar ailaufl.

Maximum : 100 marks ;

What are the main factors .mumcmu&ﬁm the wages
and salary of the employees? Also explain the
various fringe benefits for an employee.
Geuanemur_seflen smedl wHYID sFbLeTGMS LTSHEGLD
arpemiser  wig?  womb  Seursaiar  eflefliby
ulenadener efleurl.

Describe the techniques of administration of
discipline in the industry.

Carfevssdle @@ Hrarssfbsrar wsfamen
efleurl.

Describe the importance, objectives and scope of
personnel research. !
uenflwrert yuieflen péflusgeud, GH&GaTer wHoib
ellsredeng efleufl.

What is job design? What are its outcomes?
Explain.

venfl augeuld eremmired eremean? @gen GeuaflliLr(Haamen
efleuf].

Briefly explain various types of incentives.
perdis el sdlen euenasener efleufl.

Describe the on-the-job n_wmmanm methods.
uesflgmt LWHE wsHaemer afleurl.

2 D 1043






